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[3] [A]
M-I (PART - I)
99 9% 9 fRNE (CHILD DEVELOPMENT & PEDAGOGY)
fdsr : R g7 % v &7 % [ @e9g SfEd Awey g

Direction : Answer the following questions by selecting the most appropriate option.

1. Th G &l Tg’@ e 1. A type of intelligence test in which

the difficulty level of questions

P AT A gradually increases and the time
factor is secondary :

[1] qnfeses gderr [1] Verbal Test

[2] QqfRT 9ReToT [2] Power Test

[3] i e [3] Speed Test

[4] FIES gRieror [4] Performance Test

o
>

A teaching-learning strategy in
which small groups of students with
different level of ability use a variety

BN W F U RS gerR @l of learning activities to improve their
drEm & TffafEl #1 ST &R R understanding of a subject :
[1] ag—a’éﬁ AT [1] Multi-sensory learning
[2] & fareror [2] Team teaching
[3] G’ SARFH [3] Co-operative learning
[4] SASERfAT STfeFH [4] Programmed learning
3. 3. Spranger's classification of
b & b SUFW | Hefd & ? personality is related to which
approach of personality assessment ?
[1] QﬂFI'TT SUTH [1] Trait Approach
[2] 9 SUFH [2] Type Approach
[3] 9o g IUH [3] Instinct Approach
[4] TfaSQYeT IUNH [4] Psychoanalytic Approach

Level-3/912 P.T.O.
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[1] s g § &
[2] Sfles § He
[3] AT el T | H S

[4] Sraifee Rt |/ g

Y I BIC AR W The FX &

ST & 7
[1] &5
[2] SR
[3] w&9er
[4] fawemas

g

[1] g&sT ugfl
[2] 7 sigfee
(3] &

[4] e
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g
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Which of the following is not a
symptom of good mental health of

students ?
[1] Living in fantasy world
[2] Balance in life

[3] Knowledge of our potentials and

limitations

[4] Free from undesirable worries

'When an adolescent is unable to
show anger to his parents, then he
shows his anger to his younger
brother.' This is an example of which

type of defence mechanism ?
[1] Repression

[2] Regression

[3] Projection

[4] Displacement

According to Piaget's Cognitive
Development Theory, 'The basic unit
of the cognitive structure that helps
in the implementation of cognitive

behaviour', is termed as :
[1] Reflexes

[2] Basic Instincts

[3] Schema

[4] Conservation
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R fhar o g ® -

Tz ol 28 vefed #e”
Haeds g5 & g8 i
g7

[1] Saa Meds

[2] AR wd GeX Gl

[3] GleX Td HEw

[4] EaEd

|

B T g fafy 7R ?

[1] HTeTehT
[2] w&9er

[3] UsHTEs
[4] STa@ie

|«©

g, g IR & fw s e

fpe oM @ T Sehe X © 7
[1] TR &0 ~EH

[2] S| 1 fEH

[3] g9 &1 |

[4] sgdfcishar 1 fEm

TETE 7

[1] STERYT &R
[2] iq &)
[3] STt &Y
[4] R &R
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[A]

"Emotional Intelligence may be
defined as the capacity to reason with
emotion in four areas — to perceive
emotion, to integrate it in thought, to
understand it and to manage it."

Who

emotional intelligence ?

gave this definition of

[1] Daniel Goleman

[2] Mayer and Peter Salovey

[3] Peter and Michael

[4] Halverson

Which one of the following is not a

direct method for measurement of
attitude ?

[1] Interview

[2] Projection

[3] Questionnaire

[4] Observation

'A horse can be brought near water,
but cannot be forced to drink.' This

truth of
Thorndike's which law of learning ?

[1] Law of Readiness

[2] Law of Exercise

[3] Law of Effect

[4] Law of Multi Responses

statement reveals the

Which of the following is not a level
of teaching ?

[1] Basic Level

[2] Memory Level

[3] Understanding Level
[4] Reflective Level
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11.
qiifRefoen o fosia &1 9 7@ ?
[1] =reeht RreeH
[2] A foew
[3] ATER foeeA
[4] B9 e

12.

T e 7al o !
T FSRE
[1] g S REIN]
[2] S - T
[3] eTs=d - e
[4] 9T - qrEA
13.

HIF-| A Faits ST o 7

[1] QST 9 =4t

[2] FESTs qedl W Fee SiEi
[3] arfesh TiciafeEl & s
[4] QIS Gegi W g

14. AW 3 SMEED

JHR P AR ©
[1] AT

[2] HHIfSTe

[3] S

[4] HerTeoeh
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Which one of the following is not a
part of Bronfenbrenner's Ecological

System theory ?

[1] Micro system
[2] Macro system
[3] Minor system
[4] Meso system

Which pair is not correct with reference

to emotions and basic instincts ?

Emotion Basic Instinct
[1] Anger — Repulsion
[2] Ownership — Collection
[3] Wonder —  Curiosity
[4] Fear — Escape

Which way is the most appropriate

for social development of

adolescents ?

[1] Discussion on socialization

[2] Essay competition on social values
[3] Organizing group activities

[4] Documentary on social relations

Need

Hierarchical theory, 'Esteem Needs'

According to  Maslow's

are which type of need ?
[1] Personal

[2] Social

[3] Intellectual

[4] Emotional
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7 &7
[1] STETERET YA Gaef Hd

(2]
el

[3] I YR G FE

[4] Q81 ©d STAM el de Hri

et
fftrTarett & dev § w2 7 B ?

[1]
IR

[2]
T gefaq & gl 2

[3]
STEET B g Har 2

[4]
HARIBA & HROT A Bl &

S B BT A & 7
[1] Sffare
2] gead
[3] AT
[4] STl
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[A]

Which of the following task is not
related to Bager Mehdi's test of
Creativity ?

[1] Unusual uses related task

[2] New relation between pairs
related task
[3] Product improvement related

task

[4] Ask and guess related task

Which of the following statement is

not correct with reference to

individual differences ?

[1]

No two persons can be exactly

alike.

[2] Individual differences  may
belong to different areas.

[3] Individual differences affects
different dimensions of
development.

[4] Individual differences arises

only due to heredity.

Who is called the father of Trait
Theory for study of personality ?

[1] Allport
[2] Woodworth
[3] McDougall

[4] Eysenck
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BI-T Gl I H 8 Fer e 7

[1] g iR e
[2] SerT ST deer
[3] G AR T

[4] Ser R e

q B9 Y& H TH TER TeT S ¢

I REESERIES
2] G
[3] dsifoes
[4] @RI

Aifer Rl gftaferd & od § ?

[1] yE-SieT™

[2] e

[3] ITR-Tiewd
[4] T @ B T

% G e 787 R ?

[1] T HiEBIoT & ofae B

[2] T STEaRdaBrell B ST 3
[3] T& TEOH @ G F T o
[4] 98 A RH P &S 2l
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18. Which of the following pairs of

9. According

21.

communication skills is correct for

receiving the information ?
[1] Listening and Writing
[2] Speaking and Reading
[3] Listening and Reading
[4] Speaking and Writing

to Triarchic Theory,

which of the following is not a type
of intelligence ?

[1] Analytical
[2] Creative
[3] Theoretical
[4] Practical

According to Kohlberg's theory,

what level of morality is it, when

morality  includes  self-accepted

moral principles ?
[1] Pre-conventional
[2] Conventional
[3] Post-conventional

[4] None of these

Which of the following is not a general

characteristic of adolescence period ?
[1] Itis a transitional period.
[2] Itis period of unrealism.
[3] Itis time for search of identity.

[4] Itis the threshold of puberty.
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[1] | wd 97
[2] %

3] el

[4] ST Td ed

fPor S &, @
g STgEA © 7

[1] fivea st
[2] aRacHei STgar
[3] fHigea efqua
[4] aRec=siie sfaa

fepSTRTaeer & :

[1] s arefaean @i sTaee
[2] EE@ &l AfRar i aTae
[3] TR A & e
[4] @ Afar @i oTae

P THRETH & G TG Bl & 7
[1] PN fawesyg
[2] GRYEAT i HH
[3] SARRET & HH
[4] FerToTh g
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[A]

Who the
Apperception Test for personality

developed Thematic

assessment ?

[1] Murray and Morgan
[2] Bellack

[3] Eysenck

[4] Allport and Cattell

What type of reinforcement schedule is
it, when reinforcement is provided to
the learner only after a certain number
of responses ?

[1] Fixed ratio

[2] Variable ratio
[3] Fixed interval
[4] Variable interval

According to the moral development
theory of Piaget, adolescence period
1S :

[1] Stage of moral realism

[2] Stage of morality constraint

[3] Stage of heteronomous morality
[4] Stage of autonomous morality

Which of the following factors
positively affects learning ?

[1] Meaningless content
[2] Lack of maturation
[3] Lack of motivation

[4] Informational feedback
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FAT 5l T8 T SaR ©
[1] oTiaRe SIREReT %
[2] ST&I AR &

[3] STHSTI SARERET &
[4] 39 q %13 &

21. T 15
grfl, STafh Ie AR oy 128 7

[1] 80
[3] 100

2] 90
[4] 110

fFrifafeaa & & SF-91 & 787 B 7
[1] Bferpar B M

[2] 9 & G BT

[3] ufcfsrar &l wcr

[4] FTERl RidT 1 aREr

FHEA ©

[1] s @iea

[2] S

[3] &

[4] g

T @ 9 5 SR w AR § 7

[2] et
[4] @mISTS

[1] s=a
[3] ST

[10]

27. What
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Rohit helps others to get praise. This

is an example of :

[1] Intrinsic Motivation
[2] Extrinsic Motivation
[3] Innate Motivation
[4] None of these

be the
quotient of a 15 year old boy, when

will intelligence

his mental age is 12 ?

[1] 80 2] 90

[3] 100 [4] 110

As a teacher which of the following

work would not be done by you to
develop the creativity of the students ?

[1] Encouragement of originality

[2] Removal of fear

[3] Freedom to respond

[4] Avoidance of divergent thinking
Development which proceeds from
'centre to the periphery', is known as :
[1] Cephalic Caudal

[2] Proximodistal

[3] Spiral

[4] Circular

30. Hunger and Thirst is which type of

motive ?
[1] Extrinsic [2] Acquired

[3] Intrinsic [4] Social

Level-3/912
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[T - II (PART - II)
A7 (= g 37T [LANGUAGES (HINDI & ENGLISH)]
& (HINDI)

& : e 797 % o7 &7 & [ qag ST [dwey g

3. W # e ¥ o
E

[1] T - d«eY], I,
Ty
2] ™€ - 944, HE, FH
[3] MR - e, dRIHT,
R(Eel
[4] T - SR, STER, MY
32.
gam 7
[1] &5 79T HH @I HIT T
[2] A9 T GHIRY, S drer AR
[3] &9 fopdl &1 B eI fae wehdl
[4] StET HAT, a9 & T
33.
g7
[1] SIadrE
[2] Jfcares
[3] GRHTETES
[4] WA=

Level-3/912

34.

Iftc & §97 faseq R -

[1] €8 - 38 dfed; T8 - de
(2] g3 - T AT - A

(3] G - Feb; Gl - goaarg
[4] @S - &Y; So1 -

JETEX BT ?

[1] SHEEares |
[2] STifcarees gsT
[3] HTedTErh Gl
[4] eAfeRTaT=e dsT

36. FTH § BHI-61 qH FYH & ?

[1] TR R qE9 3
2] &7 & & A= geaand ¥

[3] 98 Ufa & ST IAR @ 2
[4] i # STOT Aver X T B

371. fpH 9=
ST e & 7
[1] STeaTqh [2] ST
[3] STgeH [4] =y
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[A] [12]
38. {UE F 3t | o7 fasbed gT ¢ 42.
[1] Fheal - HHERE ST 7] §M & ?
2] WRERE - AT [1] TRiee [2] weTEE
(3] It - fa (3] gae [4] T
[4] &b - SgAIRe 43.
39. pd faeheq # et @ffg &1 wan e B
g7 [1] &
[1] ghifex 2] e
2] = [3] d1g
3] TR [4] &=
[4] FeeR 44. Oy’ 9= § Ff e B
40. [1] qrerfees
e 3 9 9 9= & Ued o 7 2] T
[1] o 3] v
" Ql.m [4] 9
[3] I
[4] =i 45. ‘ToAm-qgH’ W g ¥ oIT
a1, P A ofe & o R SR - I
[1] Sucl - i DU
2 5gE - e 21y - ™
3] & - IO [3] qmrT - G
[4] T - ueE [4] 7&K - e
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[13] [A]
31l (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
46. Which of the following options 49. The word 'garrulous’ means :
express the correct meaning of the [1] talkative [2] abusive
sentence given below ? [3] violent [4] abundant
He is too cute to overlook. 50. Arrange the following jumbled
[1] He is too cute and he can be options in the correct order and then
overlooked. choose the correct option :
[2] He is too cute but he can be (1) too many (i1) spoil
overlooked. (ii1) the broth (iv) cooks
[3] He is so cute that he cannot be [1] (1), (iv), (ii1), (i1)
overlooked. [2] (1), (iv), (1), (ii1)
[4] Although he is not cute, but he [3] (iii), (iv), (i1), (1)
cannot be overlooked. [4] (iv), (ii), ), (iii)
41. Change the narration : o )
Kavin said to Mr. Cowper, "Please, 51. F111. in the blank with the correct
be kind to me." option :
[1] Kavin requested Mr. Cowper to Let us stay here, while it ........... .
be kind to him.
[2] Kavin requested Mr. Cowper to [1] is raining
be kind to me. [2] was raining
[3] Kavin asked Mr. Cowper to be
please kind to me. [3] has been raining
[4] Kavin asked Mr. Cowper that he [4] had been raining
must be kind to him.
48. Fill in the blank with the correct 52. Choose the part of the sentence that
o form of verb : is grammatically incorrect :
You had better ............. your The thief took towards/his heels/on
hands before you eat. seeing/the Police-van arrive.
[1] been washing [1] The thief took towards
[2] washing [2] his heels
[3] washed [3] on seeing
[4] wash [4] the Police-van arrive.

Level-3/912



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

[A]

53. Choose the part of the sentence that

eY

is grammatically incorrect :

He has committed / a blunder /
mistake / today morning.

[1] He has committed

[2] a blunder

[3] mistake

[4] today morning.

Fill in the blank with the correct
form of verb :

Neither you nor she ............. made
the mistake.
[1] have [2] has
[3] had [4] did

55. Fill in the blank with correct 'Modal
Auxiliary' :
Passengers ............ not walk
across the railway line.

(Prohibition)

[1] should [2] can
[3] need [4] must

56. Choose the correct passive of the

given sentence :
Did he kill a lion ?

[1] Did a lion killed by him ?
[2] Was a lion killed by you ?
[3] Was a lion killed by him ?
[4] Had a lion been killed by you ?

[14]

GET IT ON
Google Play

57. Fill in the blank with the correct

option :

Mr. Sudhir Soni is ........... R.A.S
Officer.

[1] an [2] a

[3] the [4] x

58. Fill in the blank with the correct

option that completes the idiom :
A rolling stone .......... .

[1] carries rough winds

[2] kills no one

[3] gathers no sauce

[4] gathers no moss

59. Fill in the blank with the correct

option :

When Monisha reached the bus
stand, the bus ........... .

[1] was already left

[2] had already left

[3] already left

[4] has been already left

Which of the following sentences is
the correct option to express present
perfect continuous tense ?

[1] Mr. Mehta has been waking for

2 O'clock in the morning.

Mr.
since 2 O'clock in the morning.

[2] Mehta has been waking

[3] Mr. Mehta has been waked since
2 O'clock in the morning.
Mr.

from 2 O'clock in the morning.

[4] Mehta has been waking

Level-3/912
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91T - III (PART - III)
Y 1999 (GENERAL STUDIES)
TR AT, il SINEHAT T 9T &9 U9 ST¥EIM (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

& : R 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

6l. TIRA & G99 X TN Y AT B -

TR W TE Ye ol A Y
X3 TR AR @&, @Y
P R & & 7

[1] SdY
[2] afror

3] @@
[4] Ui=™

fGem # 3 €@ H, Tafh aIel 4.5 9
T HE 31 AR gRT P oA 3

I T -

[1] 10 feHt wiet ger
[2] 12 Tt ufey et
[3] 13 feHl ufet et
[4] 15 TebHt et ger

10.5
ey, 3.5 99 B @ 3
>

e ol Rt ?
[1] 112 [2] 126
[3] 132 [4] 138

Level-3/912

61.

X and Y are facing each other at
sunrise. The shadow of Y is falling
towards right of X, then Y is facing
in which direction ?

[1] North
[2] South
[3] East

[4] West

A Dboat covers a certain distance

downstream in 3 hours, while it
comes back in 4.5 hours. If the speed
of the stream be 3 kmph, then the
speed of the boat in still water is :

[1] 10 kmph
[2] 12 kmph
[3] 13 kmph
[4] 15 kmph

63. A metallic sphere of radius 10.5 cm

is melted and then recast into small
cones each of radius 3.5 cm and
height 3 cm, then the number of
cones thus formed is :

[1] 112 [2] 126
[3] 132 [4] 138
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[A]

AR | 3
e 32
e =X B :

(1] 162%

2] 3319

[3] 33%
[4] 50%

65. 1865 @RI H #, 660
g &Y 1305
120 &
o TR 8,
I T & 7

[1] 220
[2] 440
[3] 120
[4] 1085

66. TEA H HEd T 20%
T UH JqEH 800 &9 ° 12.5

I B S e feeel ©
[1] 12 59
[2] 14 59
[3] 1589
[4] 16 B9
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If the amount is 3§ times the sum

after 3 years at compound interest
compounded annually, then the rate
of interest per annum is :

(1] 162%
2] 331

[3] 33%

[4] 50%

65. Out of 1865 people, 660 can speak

English and 1305 can speak Hindi,
but 120 persons cannot speak either
language, then how many persons

can speak both languages ?
[1] 220
[2] 440
[3] 120
[4] 1085

A reduction of 20% in the price of rice
enables a customer to purchase 12.5 kg
more for Rs. 800. The original price of

rice per kg is :
[1] Rs. 12
[2] Rs. 14
[3] Rs. 15

[4] Rs. 16


https://applink.adda247.com/d/XhqWf9lSap
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AR B 12 A JT AEA H S
T 31 AR IEH qUEA 36 &
g

[1] 2726
[3] 2796

[2] 2736
[4] 2826

B e O L e A | (< 3 L

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. fhdl d&m M 5, 9, 13

H T HEAM: 2, 6 T 10

Tl UE 999 Bid e ®

[1] 602 [2] 592

[3] 572 [4] 582

U iREd g 9o § "PARTICLE"
& "USBQFMDJ" @1 "GENERATE"
@ "FOFHFUBS"

M F< 99 H, "DOCUMENT"
fer@m ST

[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF

Level-3/912

[17]

GET IT ON
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[A]

In a division sum, the divisor is 12

times the quotient and 5 times the
remainder. If the remainder is 36,

then the dividend is :
[1] 2726 [2] 2736
[3] 2796 [4] 2826

Find the next term of the following

series :

Z1A,X2D, V6G, T21J, R88M, P445P, ?
[1] N2676T
[2] T2670N
[3] N2676S
[4] M2670S

69. A number when divided by 5, 9, 13

2, 6 and 10

respectively. The least such number is :

leaves remainder

[1] 602 [2] 592
[3] 572 [4] 582
In a certain code language

"PARTICLE" 1S written  as
"USBQFMDJ" and "GENERATE"
1s written as "FOFHFUBS", then in
same code language "DOCUMENT"

will be written as :
[1] VDEPUOSF
[2] VDPENFUQ
[3] VDPEUOFN
[4] VDPEUOSF


https://applink.adda247.com/d/XhqWf9lSap
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eY

71. O Jat P, Q @R &1 U% % 5

T 9RaT 81 79 R, Q

ar Q, P

3P 79 P

TR M 7

[1] 22 &2 [2] 25 &2

[3] 30&e [4] 35€
S =l rt

x*+y® @AM g

[1] 14 [2] 12

3] 13 [4] 16

qeieal B TH Ui H, A
104 = X g B g s & 14
WH Y

T adl &, O A SRt SR @ 24

e fhaHl B 7
[1] 31 [2] 33
[3] 37 [4] 39

14. Uh GHMER Th a8 A 15%

ST 3, OFR 369 39 18 59 aift
g o= g, @ S°w aM 18%

Sl 39 a&] 1 %9 9 (B0 H) ® ¢

[1] 360
[2] 540
[3] 600
[4] 640

Level-3/912
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11.

GET IT ON
Google Play

A tank is filled in 5 hours by three
pipes P, Q and R. The pipe R is
twice as fast as Q and Q is twice as
fast as P. How much time will pipe P

alone take to fill the tank ?

[1] 22 hrs [2] 25 hrs
[3] 30 hrs [4] 35 hrs
1a. Jf xzﬁ and y:E, then the
J3-1 \/§+1
value of x*+y* is:
[1] 14 [2] 12
[3] 13 [4] 16

In a row of girls, A is 10th from the
left and B is 14th from the right. If

they interchange their positions, A
becomes 24th from the left. How

many girls are there in a row ?

[1] 31
[3] 37

[2] 33
[4] 39

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more,
he would have gained 18%. The cost
price (in Rs.) of the article is :

[1] 360

[2] 540

[3] 600

[4] 640


https://applink.adda247.com/d/XhqWf9lSap
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15.

Th HE H SEEr 9000
B ST giE & 5%
B e W 8%
STEE 9600

g

[1] 3000
[2] 4000
[3] 5000
[4] 5600

D,CAmE @ @18, A, E
T TR, C, A =T ®, D, B

LEC IS A
[1] A
2] B
3] C

[4] D

17. Uh o

XA BT X ¥ %el i ‘g8 W amr

N X & 66 sR ddeg B ?
[1] fo
2] W%
[3] &

[4] =T

Level-3/912
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15.

GET IT ON
Google Play

[A]

The population of a town i1s 9000. If
the males increase by 5% and
females by 8%, the population would
be 9600 in a year. The number of

males is :
[1] 3000
[2] 4000
[3] 5000
[4] 5600

D is taller than C and E. A is not as
tall as E. C is taller than A. D is not as
tall as B. Who is the tallest among

them ?
[1] A
[2] B
[3] C

[4] D

71. Pointing to a girl in photograph, X

said "She is the daughter of my
grandfather's only son". How is the

girl related to X ?
[1] Father

[2] Brother

[3] Sister

[4] Mother


https://applink.adda247.com/d/XhqWf9lSap
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AddaR247

[A] [20]

18. 78. A steam engine train runs from east to
west and wind is blowing from north to
south, then the smoke from the train

fasm e ? would blow in which direction ?
[1] So-To [1] N-W

[2] So-TYo [2] N-E

[3] To-Yo [3] S-E

[4] o -Yo [4] S-W

79. 9 €@ Ao HT AT TS B ¢ 79. The next term of the following
number series 18 :

3,13,22,32,59, 69, 120, 130, ? 3,13,22,32,59, 69, 120, 130, ?
[1] 201 [1] 201
[2] 211 [2] 211
[3] 227 [3] 227
[4] 232 [4] 232
80. 9 i TS W AT 7 80. The average of nine consecutive
numbers 1s n. If the next two
SQ, aF T4 e e & s ? numbers are also included, the new
average is :
[1] T8 999 W@ [1] remain the same
[2] 1@t Q_ﬁx’ IR [2] increase by 1
[3] 1.5 @I gis erft [3] increase by 1.5
[4] 2 @ q@ Bl [4] increase by 2

Level-3/912
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A ciftrafe R T ¥ 7

[1] MY TE I X e
FeIg ARG

[2]
FISIg STHIY

[3]
IR geila A9IReg

(4]
G- a=aoild TRy

82. fr=ifhd weMi W faR ik -
(1)

AT a9 2002 § & T3 oy

(i1)
7B qrebgaR o
[1] &aw (i) @21 Bl
[2] Baa (i) T B
3] ()T (ii) AT T&
[4] ()T (i) AT T 2

BT % ®q § AT A B 7
[1] ToI™ [2] AT
[3] 9aa [4] Prarit

Level-3/912
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8l.

GET IT ON
Google Play

[A]

Which places of Haryana have been
site under

Ramsar convention of UNESCO ?

notified as Ramsar

Park &
Bhindawas Wildlife Sanctuary

[1] Sultanpur National

[2] Kalesar National Park &

Khaparwas Wildlife Sanctuary

[3] Nahar Wildlife Sanctuary & Bir
Shikargarh Wildlife Sanctuary

[4] Abushahar Wildlife Sanctuary &
Khol-Hi-Raitan Wildlife Sanctuary

82. Consider the following statements :

(1) The institution of Lokayukta was
established in Haryana in the
year 2002.

(i1) Justice Pritam Pal was the first
Lokayukta in the State of
Haryana.

[1] Only (i) is correct.
[2] Only (ii) is correct.
[3] Both (i) and (ii) are correct.

[4] Both (i) and (ii) are incorrect.

83. Which of the city of Haryana is

known as the 'City of War Heroes' ?
[1] Gurugram [2] Sonipat
[3] Panipat [4] Bhiwani

P.T.O.
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[A]

86.

= |V

T ?

(i) G TG F THIA
(ii) S AR dras

(iii) HrRAr AT Bt
7& HE F T HT
[1] (i) &R (i)

[2] (i) R (iii)

[3] () A (i)

[4] (i), (i) & (i)

q HI-A Ger fFeer ® 7

[1] BREH

[2] geT

[3] CeTHARAEEE

[4] TSTem JERT s

ffifed & @ &

oI & ERT ga 787 Bl © ¢

[1] REmT & gegus

[2]
T

[3]
=

[4]

Level-3/912
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GET IT ON
Google Play

84. Which of the following monuments

of Haryana have the status of State
protected monuments ?

(i) Sheikh Tayyab's Tomb

(i1) Shobha Sagar Pond

(i11) Bhimadevi Temple Complex
Choose the correct code :

[1] (1) and (ii)

[2] (ii) and (iii)

[3] (i) and (iii)

[4] (1), (ii) and (iii)

85. Which of the following institute is

86.

responsible for the development of
infrastructure facilities in industrial
areas of Haryana ?

[1] HARTRON

[2] HUDA

[3] HSIIDC

[4] District Industries Centre

Who among the following is not

appointed by the of
Haryana ?

Governor

[1] Chief Minister of Haryana

[2] A Judge of Punjab and Haryana
High Court

[3] A member of Haryana Public
Service Commission

[4] A member of Haryana Human
Rights Commission


https://applink.adda247.com/d/XhqWf9lSap
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DI TH AHENE o 7
[1] g GoT i
[2] oG ol BTl

[3] &fveh AT Hed

[4] 919 TREE

fFriiiae el @ aien

TR #X @ R
(i) U¥% 9RAX & T

T W ' AR weEH (ID)

STrer S|
(iii)

Ak &

ST A Dl STAFHA 18] arlll
7& FT B T HIT
[1] Baa (i) T B
[2] () &R (i) & B
[3] (i) o (i) T& B
[4] (i), (i) &N (iii) T |
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81.

GET IT ON
Google Play

[A]
Who among the following Governors
of Haryana was a civil servant ?
[1] Muzaffar Hussain Burney
[2] Jaisukh Lal Hathi
[3] Dhanik Lal Mandal

[4] Babu Parmanand

88. Read the following statements about

'Parivar Pehchan Patra Yojna' :

(1) This scheme identifies family as
a unit and is creating a reliable
socio-economic database of all

the families in Haryana.

(i1) An eight digit unique family ID is
being issued for every family and
the ID will be linked to birth,

death and marriage records.

(i11) The data available in family ID
database will be utilized to
determine automatic verification
for various welfare schemes and
families will not be required to

apply themselves for benefits.
Choose the correct code :
[1] Only (ii) is correct.
[2] (1) and (i1) are correct.
[3] (i1) and (ii1) are correct.

[4] (1), (i1) and (iii) are correct.

P.T.O.
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eY

frrfafad womi WX faR iR
(1)
et 2
(i) & T F
qRYT P T 2|
(iii)
ERATT T AqET & T &

(iv)
wiaaag afd o< =&

SEH d § H-A/8 BT g8 oo !

[1] (), (i), (iii) 3R (iv)
[2] (i), (iii) X (iv)
[3] %9« (iii)

[4] (ii) ST (iii) FF

de 2

[1] 7 3R 4
[2] 10 3R 4
[3] 108iR 5
[4] 128R 5

[24]

89.

GET IT ON
Google Play

Consider the following statements

regarding the Governor of Haryana :

(1) He is the Chancellor of Central
University of Haryana.

(1i1)) He can hold any office of the
profit in the State.

(i11) He is the President of Indian Red

Cross Society, Haryana State

Branch.
(iv)He does not have any
discretionary power granted

under the Constitution.

Which of the above statement(s)

is/are correct ?

[1] (1), (ii), (iii) and (iv)

[2] (ii), (iii) and (iv)

[3] Only (iii)

[4] Both (ii) and (iii)

The Lok Sabha and Rajya Sabha
seats in Haryana are :

[1] 7 and 4

[2] 10 and 4

[3] 10and 5

[4] 12 and 5

Level-3/912
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[25] [A]
9RT- IV (PART - IV)

QI (SOCIOLOGY)

3% : =i 797 % ST @7 % [ @aq SfEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

91. f=ifofad ¥ & @W- 91. Out of the following which set,
comprising names of book and author,
T &7 is incorrect ?
[1] & mEfear oife ssar : Al [1] The Idea of India : Sunil
EREIE]] Khilnani
[2] Rufsie o P : T dds [2] Republic of Caste : Andre Beteille
[3] SART 3fear « A= iasir [3] Imagining India : Nandan Nilekani
[4] PRE o dfgei=d : 4T e [4] Mirrors of Violence : Veena Das
92. 92. Which of the following who is not
3 AMas = foamar § T98 787 associated with 'Global Cyclic
g7 theories' of social change ?
[1] facisher A [1] Vilfredo Pareto
[2] e TIEh [2] Gaetano Mosca
[3] SAFTET id [3] Auguste Comte
[4] Rfew ARifeA [4] Pitrim Sorokin

Level-3/912 P.T.O.
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[A] [26]
93. 93. Who among the following has use
‘GETHE SURTY BT SHART fpam B 7 'Dialectical Approach' to the study of
Indian Society ?
[1] THo THo HifvamE [1] M. N. Srinivas
2] St dlo Tl [2] D.P. Mukherjee
[3] Sflo THo g4 [3] G.S. Ghurye
[4] [4] S. C. Dube
94. 94. "Destroying a tropical rainforest and
other species-rich eco-system for
profit is like burning all the paintings
of 'The Louvre' to cook dinner", is
stated by :
wq fepeeT ® ?
[1] Teag 3o fawes [1] Edward O. Wilson
[2] &9 HEsiy [2] Thomas Friedman
[3] S G [3] Ashok Khosla
[4] [4] Antony, J. Leggett
95. HfaRad T 9 BH- 95. Out of the following which process
BT P HaeIA bl BN 78 does not shape systems of
Y& HT 8 ° stratification ?
[1] gRafcRl @1 faade [1] Differentiation of statuses
[2] aRafcRl @l THEd [2] Homogeneity of statuses
[3] SRl @1 A [3] Ranking of statuses
[4] SiereaT wd el & &Y H qedich [4] Evaluation as preferability and
prestige

Level-3/912
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9. fr=ifefad # &  a&-

9@ 78 adl ¢

[1] 1928 # 7fed & HH
[2] 1931 &I = HiAA

[3] 9RA "R I, 1935
[4] 1919 & ele SHAE+=H

Uqo

BT A9 39 T N 78 & ?

[1] 3 (% &)
[2] it e
[3] T A=
[4] g el

IR AT SHRAT & 980 UGBl

T% T © 7
[1] 3o %o Wed
[2] T qRE
[3] Tefo o X
[4] e |

Level-3/912
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GET IT ON
Google Play

[A]

96. Which one of the following

phenomenon does not address the
importance of Human Rights and
Spirit of Constitutionalism ?

[1] Nehru Committee Report of 1928
[2] The Karachi Congress of 1931
[3] The Government of India Act, 1935

[4] Rowlatt Act of 1919

97. In 'The Remembered Village' M. N.

Srinivas discusses the roles of "Three
Important Men'. Out of the following
whose name is not found in this
discussion ?

[1] The Headman
[2] Kulle Gowda
[3] Rame Gowda

[4] Nadu Gowda

98. 'Increasing differentiation of system

units into patterns of functional
interdependence’ is one of the
important bases of theory of social
change given by :

[1] R. K. Merton
[2] Talcott Parsons
[3] L. A. Coser

[4] Marcel Mauss
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99. ‘Towe #H Rrmr fhEe w-
ER & T e e 8 ?

[1] e
[2] &4

[3] GTsi

[4] Tt

FHEA ©

[1] 9K SHUd (ST o)
[2] @ dEn o =

[3] OREX GNmw (STsea o)

[4] SR fEa

Level-3/912
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99.

GET IT ON
Google Play

The theory of the 'Purusharthas’

provides understanding of the

psycho-moral basis of :

[1] Ashramas

[2] Karma

[3] Re-birth

[4] Kala

A type of cyber crime which leads to

psychological harm to, or inciting

physical harm against, others,

thereby breaching laws is known as :

[1] Cyber trespass

[2] Cyber deceptions and theft

[3] Cyber Pornography

[4] Cyber Violence
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TS QI JABIT B AEh & 7

[1] Yot forsm
[2] e |
[3] PRl Shelie
[4] TR e

% AT 78 W8 7

[1] & G

[2] G- deaHve
3] SiEfi TR

[4] ITR-TENR™R TR

103. OIS TE oD

FMEMA L ?

[1] SR Hepl
[2] e et

[3] STR-HISam! d&pha
[4] ST HEpfy

Level-3/912

GET IT ON
Google Play

[A]

Out of the following who is the
author of 'Collective Choice and

Social Welfare' ?

[1] Pankaj Mishra

[2] Amartya Sen

[3] Christophe Jaffrelot
[4] Randhir Singh

Out of the following which period has
not been mentioned by Gideon Sjoberg

in 'Four Period of Urbanization' ?

[1] The Folk Society

[2] The Pre-Industrial Settlement

[3] The Industrial City

[4] The Post-Industrial City

An international culture of business

and political leaders is called by

Samuel Huntington as :
[1] American Culture
[2] Global Culture

[3] Post-Fordism Culture

[4] Davos Culture
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[A] [30]

104. 104. Out of the following which
sociologist has stated that the
progress of labour is in direct

qegel E’qﬁqﬁ?ﬁﬂ g7 proportion to the moral or dynamic
density of society ?
[1] et AT [1] Karl Marx
[2] B A [2] Max Weber
[3] SRS gEiH [3] Emile Durkheim
[4] TS AR-TT [4] Claude Levi-Strauss
105. 105. The most general type of social
YT ST Tl ® process is known as :
[1] "&am [1] Cooperation
[2] SR [2] Competition
[3] QmIfoTs SF:fhar [3] Social Interaction
[4] [4] Conflict
106. W—H"I@'—%ET‘IT (Ethno Centrism) 106. Who has propounded the concept of
STAYRON &l fhem ufquried fepar ? 'Ethno Centrism' ?
[1] %o sfad [1] K. Davis
2] dio THo ot [2] C.H. Cooley
[3] S=go Silo FHX [3] W. G. Sumner
[4] &R0 %o HeA [4] R. K. Merton

Level-3/912
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107. F=fofeg & @ #.-
e 3 7gf fordi B 7

[1]
uffeifechel gl

[2] T
[3] & Ufadl ol fhottam!

[4] TE-ggftn

fdwe @ affaa 787 R © °
[1] &g STicdl W EE ol A1
[2] T i HERe § e R

[3]
ik a1 STIfEeR

[4] iy & fRfer @ @l HeA

fefifeg & @ #9-
QIS TIHT B 78 & °

[1] 98 e 8

[2] ¥& 9N &

[3] @& fafeearge @

[4] 98 @ER FAEl § JuRed B
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107.

GET IT ON
Google Play

[A]

Out of the following which book has

not been written by Karl Marx ?

[1] A Contribution to the Critique of

Political Economy
[2] Grundrisse
[3] The Poverty of Philosophy

[4] Anti-Duhring

Out of the following which feature
has not been framed by M. N. Srinivas

for discussing Dominant Caste ?
[1] numeric strength over other castes

[2] position in local caste hierarchy

is low

[3] having economic & political

power over other castes

[4] number of educated persons in a

caste

Out of the following which is not the

attribute of social stratification ?
[1] It is social

[2] It is ancient

[3] Itis diverse

[4] Itis present in literate society

P.T.O.
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[A] [32]

110. 110. Which one of the following
- components 1s not necessary for a
MaTs T8 © ? bureaucratic organization in the

opinion of Max Weber ?
[1] [1] Organization of offices follow
Bl ST Xl zl principle of hierarchy.
(2] frofg wd fram [2] Decisions and rules are recorded
g in writing.
[3] S @ draar SR Tet o [3] The eligibility of the candidates
is not required.
[4]
el & @id 9 PEEY AT B [4] Official works entirely separated
from ownership of the means of
administration.

111. ffafag & @ aW- 111. Out of the following which objective

SHEE wifd-2000 § wifad 78 ® ? is not a part of National Population
Policy of India-2000 ?
[1] Tefpal & fas faare @ M [1] To promote delayed marriage for
girls
[2] [2] To promote aged care centres for
qued & Meared senior citizens
[3] [3] To maintain 100  percent
I JTASTT St registration of births, deaths,
marriages and pregnancy
[4] [4] To reduce maternal mortality
W H 100 § = @0 rate to below 100 per lakh live
births

Level-3/912
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[33] [A]
112. ‘ST ST Pl STTEROM 112. Who has given the concept of 'Born
T ? Criminal' ?
[1] Hio drsmEr [1] C. Lombroso
[2] e [2] Cohen
[3] §o TIo WIS [3] E. H. Sutherland
[4] [4] Merton
113. 113. Out of the following which is not a
part of 'Great Tradition' in integrated
ST @ ‘TBg qRT 4 gfufaa 78 approach constructed by Yogendra
fpam B 7 Singh ?
[1] f&dae g goE [1] Secondary Islamic Impact
[2] STMYFEHIBIT [2] Modernization
[3] wefhes gferinTer [3] Primary Westernization
[4] [4] Cultural Renaissance
114. 114. Out of the following which type of
P I FlA AR ¥ & A R 7 alienation has not been discussed by
Karl Marx ?
[1] oM & SUR q T [1] Alienation from the product of
. labour
2] @3 & @ (ownself/eNTah)
S KHIE] [2] Alienation from ownself
[3] STHEEdl § ST [3] Alienation from helplessness
[4] [4] Alienation from other people

Level-3/912 P.T.O.
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115. STRIRARTS UREE &l SRl 19

IR BT B :
[1] i & 9d & e |
NEREEIGRIGE

[3] i SU B Wi |

[4]

q B S A A 78 ® ?

[1] 98 THNT & GUekHh (e 8

[2] STy | Th EHEGE HIEE @

[3] o8 HeRor faeme &
[4] ZEa9E 3 STEHHT T & TG

M= i’ @l d@a 7
g7

[1] 59 &9
[2] Sk o
3] R e
[4]
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The

positivism

of
19th

sociological positivism occurs in :

transformation critical

into century

[1] Pre-revolutionary France
[2] Revolutionary France
[3] Post-revolutionary France
[4] Industrial Revolution

Out of the following which is not the
feature of caste, according to G. S.
Ghurye ?

[1] It is segmental division of Society

[2] Caste Society is a homogeneous

community
[3] It possesses hierarchy

[4] Lack of unrestricted choice of

occupation

Out of the following which religion

can not be addressed as 'Indian

Protestant Religions' ?
[1] Jainism

[2] Buddhism

[3] Sikhism

[4] Christianity
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[1] A9 &R T8 A9 I
Mo o T

[2] forem oifw difsifed difed @ evd
WY

[3] & & % HIYARALH : Tho
o et

[4] T GERhS AN % Hea] ¢
FliRiSIERKIRIEES]

TR &

fafifa 2t 817 a8 *ee fhae B 7
[1] o o @R

[2] %o THo FHuTeA

[3] Glo THo HiwUeT

[4] THo THo TR
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118. Out of the following which set,

comprising names of books &

authors, is not correct ?

[1] Social Theory and Social

Structure : R. K. Merton

[2] System of Positive Polity :

Herbert Spencer

[3] The Theory of Socialization :

F. H. Giddings

[4] The Scientific Theory of Culture :

Bronislaw Malinowski

"Residence, property and mutual

obligations among the kin constitute

'Jointness'." Whose statement is this ?

[1] I. P. Desai

[2] K. M. Kapadia

[3] P. M. Kolenda

[4] M. S. Gore
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120.
IR 'R W B HROT S ST 8 7
[1] Sarg/aeH afpaamae
[2] 9T G
[3] wfeen g
[4]
121. F=fafed & & -

B ARG faqwar ® ?

[1] iRe e
(2] g I g
[3] Tl @i Smary
[4]
122, frfcfeg & & @-

7 B 7

[1]
ST

[2] fafed e &9 gifsise
[3] J29 & HEH

[4]
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Greta Thunberg, a sixteen years old
girl from Sweden, is globally known

for :

[1] Climate Activism

[2] Child Protection

[3] Women Safety

[4] Civil Rights Movement

Out of the following which is the
internal characteristic of Primary

Group ?

[1] Physical Proximity

[2] Smallness of the Group

[3] Duration of the relationship
[4] Relationship is spontaneous

Out of the following which study is
not based on method of 'participant

observation' ?

[1] The Polish Peasant in Europe

and America
[2] Middle Town in Transition
[3] Brothers in Crime

[4] Elementary Forms of Religious Life
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[1] SR e
[2] foam |ge™

[3] A qYEE
[4]

T 1948
fepeTepl STemeren § garr ?

[1] Sfo THo THUFWH
[2] o THT gaA

[3] Efo To Udfo YaTwaX
[4] Sfo Slo THo HBRI

FEAMT B

[1] FafRes oTeae
[2] STeeieh

[3] &=l

[4] Frae
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[A]

Robert Redfield introduces the

concepts of 'Little' and 'Great'

traditions in his studies related to :
[1] Indian Communities

[2] British Communities

[3] Mexican Communities

[4] French Communities

In 1948, the University Commission

was constituted under the

Chairmanship of :

[1] Dr. S. Radhakrishnan
[2] Dr. Zakir Hussain
[3] Dr. A. L. Mudaliar
[4] Dr. D. S. Kothari

A complete and detailed account of a

Social phenomenon is called :
[1] Case Study
[2] Observation
[3] Field Work

[4] Sampling
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T qE A 78T A e ?
[1] M a=ad

2] ferg e
3] 9=

[4] Toerg e

39 W@l &, eI §

[1] & w38

2] i

3] 7o WYE (3R I9)
[4] =ar

% dfedl @ ToEN) JawT H STER & -

[1] T2 s e
[2] Fied s f=marT
[3] T HIGEsE fe=memT

[4] e Agasiy f=mer
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Out of the following which 'Religion’
has not been studied by Max Weber ?

[1] Protestant Christianity
[2] Hinduism

[3] Buddhism

[4] Sikhism

A number of persons watching a

street accident is an example of :
[1] Secondary Group

[2] Crowd

[3] Intermediate Group

[4] Audience

According to T. N. Madan the
kinship system of Pandits of rural

Kashmir is based on :

[1]

explicit patrilineal ideology

(2]

implicit patrilineal ideology

[3]

explicit matrilineal ideology

[4]

implicit matrilineal ideology
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[1] 3ve fafera
[2] T Fife
[3] THo Hio 3o

[4]

T $hed 3 78 A E 7

[1] Cfcrerees ao
[2] JiHTED 9
[3] errgsfas 9o
[4]

EH & FATAR TRaR
M

[1] 2
[2] 4
[3] 6

[4] 8
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[A]

'Culture is ordinary, in every society

and in every mind', is stated by :

[1] Raymond Williams
[2] Anthony Giddens
[3] S. C. Dubey

[4] D. N. Majumdar

Out of the following, which 'Path’
has not been discussed by Alex

Inkeles in  understanding  of

development of Sociology ?
[1] Historical Path
[2] Evaluative Path
[3] Empirical Path
[4] Analytical Path

The functions of the family are given

according to the Murdock :
[1] 2
[2] 4
[3] 6

[4] 8
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YR H S F@ (a1 & 7

[1] T-FeRa
[2] Smygfeh-feim
[3] eTvaRe-Fafard

[4] To-Frfym

Frefofed & & @i
arferd 787 & 7

[1] Thear e
[2] TG & T B
[3] |G & AT B

[4] TeERUAl o BT
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Out of the following what kind of
personality has not been mentioned
by David Riesman in 'The Lonely

Crowd' ?

[1] The Tradition-Directed

[2] The Modern-Directed

[3] The Inner-Directed

[4] The Other-Directed

F. Bales gives importance to twelve
set of categories. Out of the
following which category is not

given ?

[1] Show solidarity

[2] Show tension

[3] Give opinion

[4] Show indifference
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[41] [A]
134. 134. The fundamental issue in social research
is based on the idea that every object
of science is a thing. Out of the
e & 9 g8 o e & ? following who has structured this
idea ?
[1] TSN A [1] Florian Znaniecki
[2] ¥ dX [2] Max Weber
[3] SRS gEim [3] Emile Durkheim
[4] [4] Herbert Blumer
135. THEERMEET & AW T 135. Out of the following, which 'set
Fifg Feffad ‘g & @ a9- comprising name of sociologist and
TAT T 7 related country is incorrect ?
[1] %E ¥ AT did [1] Auguste Comte in France
(2] T ¥ i TR [2] Karl Marx in Germany
[3] it & ated WY [3] Herbert Spencer in America
[4] [4] Max Weber in Germany
136. FEg & @ PE- 136. Out of the following which is not the
TSR g8 @ 78 § ? characteristic of Social Institution ?
[1] G‘ITHT [1] Abstract
[2] g9l [2] Membership
[3] HE-YTA [3] Procedure
[4] [4] Continuity
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[4]

JeRel TEr (Moorings)
ARG G & ST B o

[1] Slo Go gasil
[2] T FHHA Gt
[3] To Fo &

[4]

T H oo e 7 78 fer B 7

[1] S=dHex (dafee Arex) =)o
[2] S-SRI (TE-SHTR) =R

[3] W o
HATRIA) =0T

[4]
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Out of

experimental method has not been

the following which

mentioned by John Stuart Mill ?
[1] Method of Agreement

[2] Method of Difference

[3] Method of Empiricism

[4] Method of Residues

Out of the following which scholar
rejects Sociology in India because of

its Western Moorings ?

[1] D. P. Mukerji

[2] Radha Kamal Mukherjee
[3] A. K. Saran

[4] D. N. Majumdar

Out of the following which stage of
Socialization is not discussed by

Piaget ?
[1] Sensorimotor stage
[2] Pre-operational stage

[3] Formal operational stage

[4] Informal operational stage


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

140. fr=fafad § & @F-91 IH Tod © °

[1] FEH AE A5 : A= g
[2] B BRIThehE © J3d ST

[3] R QU8 9 3 3Ll : Silo
THo g3

[4] &g 212 TS HRF : Wo Uo

et
FEAR ©

[1] dfehehiener
[2] SmgfHanERT
[3] AR
[4]

P fo@m R @
[1] & AR
[2] weH fEy

3] e T=TEH
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140. Out of the following which set is

incorrect ?
[1] Castes of Mind : Andre Beteille

[2] Homo Hierarchicus : Louis

Dumont

[3] Caste and Race in India : G. S.
Ghurye

[4] Hindu Tribes and Castes : M. A.
Sherring

The process in which various

spheres of society and culture are

completely isolated from the

domination of religious institutions

is called :

[1] Rationalization
[2] Modernization
[3] Secularization

[4] Westernization

'Nation 1s an imagined political

community' the statement is given by :
[1] Ernest Gellner

[2] Adam Smith

[3] Benedict Anderson

[4] Eric Hobsbawm
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. >

(3] ShoenRes Sl bt | St
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[1]
OEIEPISIRIE]

[2] TOEAE TG EXEHS ThEdTs

[3] Sl ST=O:FhaT T4
eRTIaTE

[4] TOEER Td TEMHgemis
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The process of 'Anticipatory
Socialization' is closely linked with

the structures of :

[1] Reference Group

[2] Social Institutions of Informal

Nature

[3] Social Institutions of Formal

Nature

[4] Membership Group

Which of the following theories are
the most important proponents of

qualitative methodology ?

[1] Symbolic Interaction and
Ethnomethodology

[2] Positivism and Structural
Functionalism

[3] Symbolic Interaction and

Structural Functionalism

[4] Positivism and Ethnomethodology
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[45] [A]
145. 145. Who has define 'Culture is a learnt
AR B’ q8 R s @ 8 ? and shared behaviour' ?
[1] T IR A% 9 [1] Young and Mack
[2] S0 dlo TR 7 [2] E. B. Tylor
[3] o Tho TN [3] W.F. Ogburn
[4] Ue% fofest A [4] Ralph Linton
146. 146. Who is the author of 'Scientific Social
AEEH P & 7 Surveys and Research' ?
[1] R el 3 [1] Hsin Pao Young
[2] Go dio T [2] P. V. Young
[3] dlo To AR [3] C. A. Moser
[4] T8 T e [4] Goode & Hatt
141. 141. Out of the following who has placed
'‘Status  Group' as contrasted to
fpam B 7 'Classes' ?
[1] HI A T [1] Karl Marx
[2] f9 AT A [2] Max Weber
[3] ol fifs= A [3] Anthony Giddens
[4] [4] Michael Young
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148. Out of the following, who has given

the concepts of 'Unfocussed

Interaction' and 'Focussed Interaction' ?
[1] Erving Goffman

[2] C. Wright Mills

[3] Peter Berger

[4] T. B. Bottomore

When a person performs roles in

accordance with existing social

norms, it is known as :
[1] Role Taking

[2] Role Playing

[3] Role Learning

[4] Playing at Role

Who are of the view that
organization of the whole social
system and the method of its

obedience is called social control ?
[1] Maclver and Page

[2] Ogburn and Nimkoff

[3] Bottomore

[4] Karl Mannheim

Level-3/912
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g If you fill more than one circle it will be treated as a
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1. 6 FE F-JRaH d 39 JEeE & U & W Rl e WA w4 (

provided in the Question Booklet for the same.)

8. @l I Fa OMR
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. W

(white fluid) is not allowed for changing answers.)

9. T% U & ot Ru 7w R fasedi § 9 SRud fogew & T OMR ST) 056
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Sheet. The answer once marked is not allowed to be changed.)
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under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)
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Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)
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ToR, AR 6, SR SUHT A Rl o TR H AN A QA N AT ST FA B SFGAC T 8l (
not allowed to carry any textual material
any other material except the Admit Card and Identity Card inside the examination hall/room.)
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his/her Admit Card (Roll No.) and identity card to the Invigilator.)
15. &= e a1 Haes @ A9 Gﬂqﬁf % o Eb:l"és STl oTae WM A BiE| (No candidate, without special permission

the Superintendent or Invigilator, should leave his/her seat.)

16. FEXT FE® B AT IR T (U B 0 swnr =l wAE
HAREl T g IR BEEE A WK TE %
Al AT STCT OMR SR O #f FeiiRa @M W ot ol e ot e & of e & e T St Rl
e @ T 9 99 # SEF @ S R |
A HIl (
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified
should be properly inked i.e. they should not be either over inked or dried in nature.)

11. (Use of Electronic/Manual Calculator is prohibited.)

18. G B H SR & i, orvaedl fefrem # & v e/ Ry
et 3 ol a1 dea a8 3 fremt w Rfed @ SINGIN g (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

19. el B & 9eT-gRE oI IR T W PiE A ST T HX (No part of the Question
be detached under any circumstances.)
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Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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